Quiz 5 — MAD 2104 - Summer A 2014 NAME: SO [(.J’L(OQ Ke-t}f

This is a take-home quiz. Due date is Monday, June 16. Even for the short problems, please add a
brief explanation to the answer,

1. (8 pts) (a) How many functions are there from a set with five elements to a sct with three elements?
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(b) How many one-to-one functlons are there from a set with five elements to a set with three elemtilts'?
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(d) How many onto functions are there from a set with eight elements to a sct with five elements?
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2. (8 pts) How many strings of five lowercase letters in the English alphabet contam
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(d) the letters ¢ and b, where a is somewhere to the left of b in the string, with all letters distinet?
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3. (8 pts) (a) Use the binomial theorem to show that
C(n: 0) - C(n: 1) + O(n: 2) - C(ni 3) + ..+ (-—l)nC(’n, 'f?,) = 0.

(b) How many subsets with an odd number of elements does a set with 10 elements have?
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4. (4 pts) How many numbers must be selected from the set {1,3,5,7,9,11,13,15,17} to guarantee that
one pair of these numbers have an average of 97

CGLU;C“&U‘ k‘e‘i’. ‘\O«L&':“'-‘Ott 2, I H’\ Ueanrggussrlgiukfhll} O ;(f}
ot et whea  cacde cef we Kl an a Tfec”.
\ @.0:( dawr@a—'v\u\,-q A\w&‘g f’aﬂ 9' "N q.g"( ) 3994 '@C’K

s }'\ p{ogg LL@*_'( Cg)f&@\q ‘{uyo ,e,[e.ckw;{?@ w.‘Fﬂ Cu Qwert&ﬁe .ca‘r j"ﬁ
e“" fwe @(emm‘('s e

)

‘ do aquatewtee H—Q\o.( we _

s ;‘“&Qa 9w weed to qiéﬁ’ o ebeceets %GM s
M ” } st ——_

em‘a&&o\ C.e‘/J;' =




